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= 3,300,000 3,300,000 0
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= 38,000 0 38,000
02 DI A MALE R 38,000 0 38,000
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49,000,000 49,000 263,000 A 214,000
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— HM3A}ESAT POS AlAE ol
6,600,0002 * 14! 6,600 0 6,600




2N oEBE D
B B (ELNANL /2T R)
Sl GHE BRI AY CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
—mge)l 2y 300, 0002 1 f 300 0 300
02 232l 6,960 6,360 600
0ZZ23 2 XA 6,960 6,360 600
— 201 AAH 20,0002 * 104 2 2,000 1,400 600
401 NEHIL 2 THEI 2,900,004 1,941,584 958,420
01 Al Hl 2,898,420 1,940,000 958, 420
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—uFNSHEAT 20,000, 00021 * 14! 20,000 0 20,000
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01 Al 200,000 0 200,000
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2 100,000 0 100,000
RE 58X BA(ELNANL/NALZAI) 571,020 2,711,020 860,000
YEB/EINE 193,370 2,333,370 860,000
Z 01219 ALY 193,370 2,333,370 860,000
401 NEHIL2ThEl 193,370 2,333,370 860,000
01 Al 185,000 2,325,000 860,000
Oolz H0t2 o2 FHIBA
100,000, 0002 * 14! 100,000 0 100,000
Ooly #OIE FHE &XBA
100,000, 0002 * 14! 100,000 0 100,000
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30,000,000 * 141 30,000 0 30,000
OB S=0t2 22 THBA
30,000,000 * 141 30,000 0 30,000
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200,000, 000! *14] 200,000 0 200,000
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30,000,000 *14] 30,000 0 30,000
O2% 4E0SsZ YA
200,000, 000! *14] 200,000 0 200,000
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30,000,000 * 141 30,000 0 30,000
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20,000,000 *14] 20,000 0 20,000
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20,000,000 *14] 20,000 0 20,000
OB SZ0t2 M EIHISA
20,000,000 *14] 20,000 0 20,000
OUM BLOIS 22 THBA
20,000,000 *14] 20,000 0 20,000
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20,000,000 *14] 20,000 0 20,000
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5,000,000 1Al 5,000 0 5,000
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= 136,080 136,080 0
= 86,469 60,594 25,875
= 573,040 431,386 141,654
sSEFHIMH 795,589 628,060 167,529
= 136,080 136,080 0
= 86,469 60,594 25,875
= 573,040 431,386 141,654
CEEYHES NSHY ¥ sEBEFUI(XA) 300,000 250,000 50,000
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NJIEEd=s 60,000 40,000 20,000
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Oget=gHl 600 0 600




A otA 2te| Bt

B EXAS (RELXNANL/NAL T Al
el AET Y 22l (B9 ®R)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
—eiFe BUHE L AHOIE
600,000 *14] 600 0 600
Osg+g 1,400 0 1,400
—AESARE FALD 70,0008 *10% «23] 1,400 0 1,400
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